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Question 1

A) 80 ones
B) 80tens
C) 80 hundreds

v' D) 80 thousands

Question Type:

Date Added:
Last Modified:
QID#:

Question 2

A) 280000
B) 284 000
C) 284600

v/ D) 285000

Randomize Answers:

What is the value of digit 8 in 2 189 723?

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,087

Round 284 584 to the nearest thousand.
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

v ' A) 3m

B) 30cm
C) 30m
D) 0.3km

Question Type:
Date Added:

Last Modified:
QID#:

Question 4

A) 54
v B) 72

c) 270
D) 432

Question Type:
Date Added:

Last Modified:
QID#:

Question 5

Randomize Answers:

Randomize Answers:

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,096

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,101

Find the value of 48-(9-2x3)+3x9

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,107
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Primary 5 Maths » Primary 5 Maths (Term 2)

Which of the following could be the height of a basketball hoop at a basketball court?
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The base of triangle ABC s AB. What is Rs helght?

A) BC
B) BE
v C) cD
D) DF
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,112
Question 6 Primary 5 Maths » Primary 5 Maths (Term 2)

3
A containet hud 7 kg of sugar. Mrs Phua used % of It bakm a cake. Moo much

gugar b Mrs Phua lafr?
A
) 1
= kg
v B)
L
T kO
C)
Th
D) 7
2140
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,120
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Question 7

A) 36
v B) 18
c) 8
D) 4

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 8

A) 800
B) 1250
v C) 1800

D) 2250

Question Type:

Date Added:
Last Modified:
QID#:

Question 9

A) 2160
v B) 3600
C) 5760
D) 7920

Randomize Answers:

ClassMarker - Manage Test

1
i of & humberis 12, What is % of this mumbar?

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,122

Randy made green paint by mixing blue paint and yellow paint in the ratio 4:5.
He used 100ml of yellow paint. How much green paint did Randy made?

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,128
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A rectangular tank measuring 30cm by 12cm by 16cm is completely filled with water. How much water
must be poured out from the tank so that the height of the water becomes 6cm?
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,136

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 2)

Amy, Brenda and Cathy donated a sum of money in the ratio 8:5:1. Amy donated $420 more than
Cathy. How much did the 3 girls donate altogether?

v A) $840

B) $1260
C) $1470
D) $1960

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

Muiltiple Choice
No

Thu 16th Sep 2021
N/A

29,037,142

Primary 5 Maths » Primary 5 Maths (Term 2)

& growp of shedents played ball games, hida-and-=wi or badminbon during

i
recEs. % of tham played ball gamas. ¢ of lhe remaining students playsd hide-
sd-enpk and 12 students played badmirton. How many plisdants played bal

Games?

v A) 15

B) 20
c) 30
D) 40

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 12

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,144
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Square A and Reslangle B have the same peimeter. Whal is the area of

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

form & cube?

A) 27
B) 14
v C) 13

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Multiple Choice
No

Thu 16th Sep 2021
N/A

29,037,147

Muiltiple Choice
No

Thu 16th Sep 2021
N/A

29,037,154

Reciengla B7
8 om
T 10 cm
iy — i
Rectsngle B
Square A
A) 80
B) 64
v C) 60
D) 32

Primary 5 Maths » Primary 5 Maths (Term 2)

Wireal i the leset number of unit cubas that most be added 10 thie figure bebow 1o
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Question 14

v A) 180m
B) 270m
C) 360m
D) 540m

Question Type:

Date Added:
Last Modified:
QID#:

end?

A) 137
v B) 245
C) 274
D) 411

Question Type:

Date Added:
Last Modified:
QID#:

v’ 7489053

Question Type:
Date Added:
Last Modified:
QID#:

Multiple Choice

Randomize Answers: No

Thu 16th Sep 2021
N/A
29,037,157

Question 15

Multiple Choice

Randomize Answers: No

Thu 16th Sep 2021
N/A
29,037,168

Question 16

Accepted answers:

Free Text

Thu 16th Sep 2021
N/A

29,037,309

ClassMarker - Manage Test
Primary 5 Maths » Primary 5 Maths (Term 2)

The ratio of the length of a rectangular plot if land to its width is 3:2. The perimeter of the rectangular
plot of land is 900m. Find its width

Primary 5 Maths » Primary 5 Maths (Term 2)

Dave has 3 times as many marbles as Elijah. After Dave gave away 166 marbles and Elijah bought
108 marbles, they both had the same number of marbles. How many marbles did Elijah have in the

Primary 5 Maths » Primary 5 Maths (Term 2)

a) Write seven million, four hundred and eighty-nine thousand and fifty three in numerals
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Qu estion 17 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

b) What is the value of 117 000 + 3007

Accepted answers:

v’ 390

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: N/A

QID#: 29,037,315

Question 18 Primary 5 Maths » Primary 5 Maths (Term 2) 1pt

Exprozs E'E ag a decimal. Comect your answer to 2 decimal places.

Accepted answers:

v 256

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,322

Correctly answered feedback
5/8 = 5+9=0.555

0.555~0.56

0.56+2=2.56

Incorrectly answered feedback
5/8 = 5+9=0.555

0.555~0.56

0.56+2=2.56

Question 19 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Mir Ong head 250 botties of santiser in kg &mp. Each boltle walghed %hg.
Amﬂmarw 41 botiles of sanitiser from him. Find the lotal mass of e urscld
baotiles of sani Mr Cing hiad In his shop

Accepted answers:
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v’ 40kg

v’ 40 kg

v 40

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,331

Correctly answered feedback

500/11 - 60/11 = 440/11
= 40kg

Incorrectly answered feedback

500/11 - 60/11 = 440/11
= 40kg

Question 20 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

ABCD it a squara, 1 is made up of 4 emall squares, 2 big squares and 2 triangles,
Whal fraclion of Squars ABCD s shaded? Give your answer in its simplest form.

A B

Accepted answers:
v 14
v 14
v 114

v 174

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,379

Correctly answered feedback
2/16+2/16 = 1/4

Incorrectly answered feedback
2/16+2/16 = 1/4
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Question 21

7 unil cubes sy used o form he solid shown below

. Topwgs

Crarw (e lop view and side Wew of the soid on tha gnd paper provided.

Top View Side View
Question Type: Essay
Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,417
Correctly answered feedback
| Top View Sde Wew
Incorrectly answered feedback
| Tops Wiew Slde Wew
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Question 22 Primary 5 Maths » Primary 5 Maths (Term 2)

Basket X had 125 fruits and Basket Y had 293 fruits at first. After an equal number of fruits were
removed from both baskets, Basket Y had 3 times as many fruits as Basket X. How many fruits were
there in basket X in the end?

Accepted answers:

v 84

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: Thu 16th Sep 2021
QID#: 29,037,428

Correctly answered feedback

Diff= 293-125=168
Tu=284

Incorrectly answered feedback

Diff= 293-125=168
1u=84

Question 23 Primary 5 Maths » Primary 5 Maths (Term 2)

The ratio of Andrew's score to Samuel's score in a mathematics test wast 3:5. Jonathan scored 36
marks more than Andrew and 12 marks more than Samuel. What was Andrew's score?

Accepted answers:

v 36

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,434

Correctly answered feedback
Diff= 36-12=24

Tu=12

Andrew = 12x3=36

Incorrectly answered feedback
Diff= 36-12=24

Tu=12

Andrew = 12x3=36
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Qu estion 24 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt

Triang’s A overdaps Square Boas shosm in the fiouse balow. The ralio of the e
af Triangla A to the area of the shaded portion of Triangle A to the area of Gquare
Bis 7T :2: 5 Thearea of Trianghe A s 320 md. Find the area of the imshaded
porticn of Squars B,

Accepted answers:
v 141m2
v 141 m2

v 141

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: N/A

QID#: 29,037,449

Correctly answered feedback
1u = 329+8=47

leftin B = 5-2=3u

unshaded = 47x3=141

Incorrectly answered feedback
1u = 329+8=47

leftin B = 5-2=3u

unshaded = 47x3=141

Question 25 Primary 5 Maths » Primary 5 Maths (Term 2) 1 pt
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in the figure, ABGH and BCEF are squares and BHD ks a iangle.
FE =& am and HG = 15 crn. Find the area of tdanghe BHD.

Accepted answers:
v’ 92cm2
v 92 cm2

v 92

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: Thu 16th Sep 2021
QID#: 29,037,458

Correctly answered feedback

.d%xBxH
§x4x15=ﬁncmz
A % x B xH

——— - —

=%xﬂxﬂ=32cm2
ABHD = 60cm2 + 32cm2 =92 em?2

Incorrectly answered feedback
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AZxBxH
>X4x15 = 60cm2

A % x B xH

>X8x8=32cm2

Question 26

ClassMarker - Manage Test

- —

ABHD = 60cm2 + 32cm2 =92 em?2

Primary 5 Maths » Primary 5 Maths (Term 2)

A reclanguiar tank 80 oo by 100 con by 83 em s filled with waler up in % af ik
hedght. How much mora wator bas to b added o thal the weler lovel is 12 om
from the lop? Ledve your snswer in ires,

fificm

v 64
v 641

v 64

Date Added:
Last Modified:
QID#:

Question Type:

Accepted answers:

Free Text

Thu 16th Sep 2021
N/A

29,037,465

Correctly answered feedback
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1 pt

14/16


https://www.classmarker.com/a/tests/qb/manage/?test_id=1816522&question_id=29037458
https://www.classmarker.com/a/tests/qb/manage/?test_id=1816522&question_id=29037458&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1816522

9/20/21, 10:12 PM ClassMarker - Manage Test

.‘:’ulume of tank = 80 x 100 x 60 = 480000cm3
; of tank height = B0 x 100 x 40 = 320000

Required volume left = 80 x 100 x 12 = 96000cm3 .
How much left in tank - 480000 - 320000 = 160000
How :nuth more = 160000 - 96000 = 64000cm3 =641

Incorrectly answered feedback

.‘_I-J'ulurne of tank = 80 x 100 x 60 = 480000¢cm3
3 of tank height = B0 x 100 x 40 = 320000
Required volume left = 80 x 100 x 12 = 96000cm3

How much left in tank - 480000 - 320000 = 160000
How :nuth more - 160000 - 96000 = 64000cm3 =641,

Question 27

Primary 5 Maths » Primary 5 Maths (Term 2)

l}arimhﬂ:lus-.lmmmunaymfm.mmn!mdhlsmmmamlmaﬂ
o1

%d‘ﬂa remaining money on siabionery. in fhe end, he was left with 7 of the

amount of morey he had ot firet. How much money did Draried have at firsf?

Accepted answers:
v $128
v $128

v 128

Question Type: Free Text

Date Added: Thu 16th Sep 2021
Last Modified: N/A
QID#: 29,037,470

Correctly answered feedback

2u=%nfmtal
%=2ux3=ﬁu

5u = $80
1u=$80 + 5 =%$16
4u=516x8=%5128
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Incorrectly answered feedback

1
2u= ) of total

%=2u13=ﬁu
S5u = $80

1u=$%$80+5=%16
4u=516x8=95128

www.classmarker.com
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